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‘Note:- You have four choices for each objective type question a
fill that circle in front of that question number. Use marker or pen
will result in zero mark in that question. Write PAPER CODE, which is printed on this question pa
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible
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s A, B, C and D. The choice which you think is correct;
to fill the circles. Cutting or filling two or more circles

er, on the both
or the situation.

(D) (C) (B) (A) QUESTIONS Q-1
1895 1890 1776 1770 Adam Smith wrate his book in:- :J”;D’ L#y A
Conditional Jn;" Natural JJ;’ Moral JJP‘ Scientific u';tl Economic Laws are: . in uC l:;L; b | 2
Vertical ($»¥ |Horizontal 3’ f Negative d‘:' ‘Positive = | The s1opé of indifference curve isi-e- r;rif-_’b’ﬁ}rxb 3
ctupe & oy o etf With continuous ~¢- byl Ve L L | 4
Becomes Zero| Increases Positive Decreases | use of commodity marginal utility becomes:
Chair U'/( Variables =12~ | Parameters ;%15 | Constants.= ¥ | The values which change are called:.,';f!ufa.& ondwzgsim | B
J}J'g(}; /" 1[4“_- lj(' wlie J(i et &ﬁ ‘-‘g J__,.Lb J’?’ Uns| 6
Perfectly elastic Zero Less than unity | More than unity | The elasticity of demand for necessities is:
Infinite 29U Zero Positive =% | Negative d” Siope of demand curve is: - ST KA 7
Y & P L,f/fF The functional e b2 J‘lJ St a8
Zero Negative Decreasing Increasing | relation between supply and price is:
v ot » i Y Ads Sove il el 9
Four Three Two Cne According to time period , the kindof supply are:
Eids o a i A e = AL - Jﬁ ot {351}5 10
Stock Quantity supplied =y Quantity Equilibrium price is détermined Dy:
Quanity demanded | gemanded
and Quantity supplied
S sots AsK Sy AsK S ) % WS Pk nin| 11
One Owner | Public Business | Individual Business | Partnership | Joinilisinesgof two or more persons is called:
¢~ iy = ot Y & _ 2PN W . 12
Organization Capitai Labour Land Geaghraphical mobility is not possible for:
FePaii | PedBois | Seapois | Peom e b ol g P | 13
Law of. Law of Law of constant Law of Marginal product increases in: '
variable return | decreasing return return increasing return
ePun | SedBuin | S Wi Sy v e b b Sie | 14
Law of vanable Law of Lawofdncreasing Law of Another name of Law of increasing cost is:
proportion decreasing returr relurn decreasing cost
il s At x..i.rl.-vur ke r;i e bn &S K ik Jst.*Wd-'-" 15
Substitute cost {hAveéfage cost, | Total cost | Marginal cost | The sum of fixed and variable cost is called:
w2 ). » T gt i i A | 16
r:Er:'?t;gfs Pow Two one In perfect competition buyl_ars are
il Sy Seedsd o e bfpf Fumlic st bl | 17
Loss Zero profit Abnormal profit | Normal profit | when average cost is greater than average revenue, the fim faces:
Yo Lo S ke ¥ Tad et/ Sl sl abl| 18
Average Revenue | Total Revenue | Marginal cost | Marginal Revenue | Demand curve of a monopolist represents:
b & oo K et Gan Szl 19
Positive Negative Vertical Horizontal | The graph of supply of money during short period is:
~ =t A o bt o dt ¥ Ak el | 20
Organization Labour Capital Land For which reward factor of production is not pre-determineci:
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Answer briefly any Eight parts from the followings:- 8x2=16 ,Jf/f...yf/”é:iﬂ Mt bios -2
Define the Adam Smith's definition of Economics. W S P /’d’ HVL"‘GJJ( UF J e r»l (i
What are the four characteristics of human wants. -u’//j...., Ldr‘".rl.r J =l dur (i)
What Is meant by economics as normative science. Explain with example. -u’.f f; e d'.‘:-c, Ay Ve adidt H‘ (iii)
What is meant by Macro Economics? & e slpVe ol o (iv)
What is meant by "Wealth" ? ; Sty fem i (V)
What is meant by word "Marginal” in economics. fe il Ve ("'bnlg,t 2k (i)
Write four assumption of law of diminishing marginal utility. -u‘f//‘...,bj/"xyl. (“"a:bi J‘W WIE (vii)
Write four types of variables L2 St (vii)
Define Law of demand. : SIS M (ix)
What is meant by extension of demand? -y Ve 2Ll b (x)
Explain the compound demand? : : fe st Yo S (xi)
Describe slope of demand curve? : et SITE N (xii)
Answer briefly any Eight parts from the followings:- 8x2=16 S fz Al 31 e ek Sitn -3
Explain the difference between stock and supply. 104 £ ok G st o/.-I" 3 (i)
Wirite the four causes of change in supply. ?u:’{__,n,»uga DSF S ()
Explain the Elasticity of Supply equal to unity. -.,g/ woles J.d.g LJ%’ 1 ,..g S (i)
Define Elasticity of supply. eV 4 Sas (iv)
What is meant by change in Equilibrium. Sely L(:.J:x’u! oild (v)

If Qd=10-2p and Qs=4+p then Flnd Equilibrium price and Equilibrium quantity .J)?}’“ﬂmuzf?;ﬂ._—) 7 I Qs=d+p i Qd=10- 2pf 1(vi)
What is meant by Efficiency of land. - st/ e s£3lo> S gviii) Oefine landByliFred Marshal {317V Ve ikl S (vii)

Define term “Labour” used in Economics by Prof. Jevons. u"g...-i/’a:/ Uk J = J /r‘/‘y (ix)
Write the name of factors of production S‘u:.‘ﬁrtﬁuﬁ{g g (%)

Define Law of variable proportionsfe. sl & Ve el 8220560 (i) Wiile the name of Laws of Retums u’grtf. Ho 15 G
Answer briefly any Nine parts fm lowings:- 9%2=18 QS fehz L7 3 adfe BLitn -4
Define fixed cost of production. Write &J L u" o -u‘f 3 /’J J lag slet o (i
K SrJe- c..J/U’a.Jﬂffb (i)

What is meant by explicit cost . Write example.

What is meant by average revenue. Write its fermula u"g Urboe il Ve U bt (iii)
Wirite assumptions of perfect/competition. u‘ﬁubjfL S ()
Write conditions of firm's equilibFium. _uij i/gf wiiL r,’ (v)
Make a diagram to shof theishut'down point of a firm. ;J)’gr;a.ruﬁ’li Sl JL.«» Z.r) (i)
Draw average revenue and marginal revenue curve under monopoly. -u’ b S r'"’ul bl J r/..ﬂ./. Salaasdet (vii)
Wiite twodifferences between monopoly and perfect competition. P S ISR J"(Jﬂ U elet (vili)
What is feanit by intensive cultivation? e Ve Jhe2y (ix)
What is teant by differential rent te s b 87
Whabis meant by money wage. Give an example. Lodbe Ve el (xi)
Writé'four advantages of minimum wége -u.f"iﬂ;’.rgl. L,i;‘c'-.zl {xii)
Write Keynesian motives of demand for money. ' N 77 A Ty [ (i)
Part 11 (e -~
Note: Attempt any three questions. 10x3=30  glfevrleomwrdedl -2
5. What is meant by indifference curve? Explain its properties. iy BT S ] J 2oy uﬂi fe el Ve t:z[-'x L 5
6. What is meant by v?riabtes? Explain their types by examples. -.,)‘/ = Yol J rul J Wi slrl Ve ...J/" -6
7. Explain law of variable proportions with the help of table and graph. sif r!}:bul ufrf;)m ol VW’/‘” s -7
8. Explain the equilibrium of a firm under perfect competition in long run. S/ ety l‘:’r/".ﬁ J boofeil e -8
9. Explain the difference between Profit and Interest. - Jeo s U/ W Cf"-’ -9
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